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y&i§ | TWO | ZERO | FOUR | EIGHT | THREE | SEVEN | EIGHT | ONE | THREE | NINE

Fdr 2 0 4 8 3 7 8 I 3 9

& e a1 (Rough work) ¥e qRaar # & far o |

F ydd e B o 10 3F & TP T IR @ ford 1.0 P 3T TR | Ted Sk o7 W Y% 3D Brel
TR |

T g% g P IR &Y AT T BT B IR U & Il B FER W | 76 ¥ 3fE R T gt
B eI e AT ST |

T : 99 oo fadt v &1 uen W= 41 39 UOR ©

Q.No. 41: What type of mixture is smoke ? g3l e gaR &1 s @ ?
(a) Solid mixed with a gas (a) 1 @ S
(b) Gas mixed with a gas (b) 5 ff¥a i
(c) Liquid mixed with a gas (c) v i =a

(d) Gas mixed with a liquid and a solid (d) %9 U9 39 M A

afe P FTAR 39 G BT GE S/ fadbew (d) €, O IeR-UAD H T ATANT 0 Wafee favg-awqg diew
TE T 23 @ @ @ g Dl T9 THR W

we fafy o fafy
T qlenfiE B ¥ BT Gome & o € fF AR 9% 3w wA-gfke § B 39 e 7w e

Jorar e e A g gE @i o RS qeled @t <, e e gs Sel R o1 6 aer
e P GIRT W WD |

T qlden ¥ oG U9 AHT dordoie] AUl I FdEle WA ON HEgd B, JoR gty @ w
o afeid 2|

e :
1. 39 T ¥ RS IS BT WU 8| TS TAd SR D oIy Va 3 HIeT WA |
2. TT UE P A Y A Y AT I P W A RO 3P T VAU 2| 99 41 Teld S BI A
14 3@ HIeT SR
3. 9 yE-gRaer 7 o ag@Tie AR Heal a1 (Rough work) & sfoRed gv 7 ford |
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P G o T & ?
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(B)

©) &

D) ®

TN B

(A) Y&
(B) V-l
(C) d-TIfRb

(D) =T

f2=dY wrwr & forfd §
(A) X

(B) Q@

(C) IR

(D) |

AR B qud vd ARl ufth A Al @ G
I 8

(A) 12

(B) 11

©) 13

(D) 14

e 3 SR I ARET BT TIREr § ?
(A) 3@

(B) URHA

(€) e

(D) SUIH A ¥ PIg Tl

e ¥ 9§ Ble-a1 ‘AgiRm fogT & 7
A
®) |
© °?
D) ;

cccccccccccccc

8.

10.

1.

i

€ I BT :

(A) ¥ FYS TEH B

(B) T BUS UET F|

(€) ™ B FIS TET B
(D) 9 $YS Y& 2|

98 oA o 35 Wt 9a1 9 8 9 By
UF I ©
(A) SIS
(B) 9
) ST
(D) 9-Id

T WS P WY-fawE gy
A) T4+ U@
(B) Wl + B
©) 9+
(D) W+ B
(A) T
(B) < G
(C) JoT G
() faert <y

T e BT IGHT T BT 2
(A) ST

(B) drsaf

(C) <A

(D) WouRA

g B

(A) Ve

(B) T

(C) il

(D) SWH # ¥ 3 T

P ®

(A)  FUfAPR

(B) |
©)
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15. R BHr eT B A4 ¢ 18. TR I P 3 BB -
(A) 8 & (A) @
(B) VM < (B) Hrel
(C) U N O < (C) UMl
D) RR A T Sara (D) el
16. ¥ Wou Jo¥ BM € 7 a0 § oFaws 19, W ue sifey :
% 8 ? (A) 3
(A) oo B) 3
B) T8 (€) 3
© d D) ¥
® &
17. M @ IRt Gl & YEAIDR 8 - 20. YT BT SEEEN $9 FaN o ?
(A) TRmen (A) 1948 30
(B) &R (B) 1936 %0
(C) FAFTA (C) 1942 30
(D) BERA (D) 1930 %0

21.  Some amount of money becomes five times is 21. ¢ Hfgerd WRRYT aIffe & @ X 9§ Ble
a fixed time at the rate of 6% annual simple ORI e g W ¥ o T 2 o

:Eterest. How many times 1:, “:’ll] become in %I 9% 9 & wHg 9 v @ @ e
e same time at the rate of 9% interest ?
(A) 6 e - E)T SR ?
B) 7 (A) 6
(C) 75 B) 7
D) 10 €) 75
(D) 10
22.  Purity of milk is tested by : 22. Y @I gEdl A O B
D Bren ® et
(C) Stelgometer (B)
(D) Thermometer (C) TR
(D)  YHMIeR
23.  Find the odd one out from the following : 23, 99 ¥ ¥ 3R Bl gAY
(A) Cfmal (A) TR
(B) River
(C)  Waterfall B) T
(D) Pond (€) =X
(D) dTellg
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24,

25,

26.

217.

28.

28,

If TECHNOLOGY is written as 3291546487 24.

how CONTENT can be written in the code :
(A) 9435253
(B) 9453235
(C) 9453253
(D) 9452353

Arun is heavier than Gagan, Mohit is lighter 25.

than Jack. Pawan is heavier than Jack but
lighter than Gagan. Who among them is
heaviest ?

(A) Gagan

(B) Jack

(C) Pawan

(D) Arun

Select the one option which is different from
other :
(A)
(B)
©)
(D)

RST
LNO
UWX
CEF

Total Geographical area of Uttarakhand is :
(A) 53,483 sq. km.
(B) 60,480 sq. km.
(C) 55,483 sq. km.
(D) 65,480 sq. km.

How many district in Uttarakhand ?
(A) 23
(B) 14
< 12
(D) 13

Maximum number of Thursdays in a leap year
will :

(A) 51

(B)y 52

(C) 53

(D) 54

INDIRESU

YOUR SUCCESS PAR
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- 08-101

26.

v

28.

?)INDIRES

e f&f P § TECHNOLOGY I
3291546487 for@r @rar & @ S Ble H

CONTENT o forar SR :

(A) 9435253
(B) 9453235
(C) 9453253
(D) 9452353

BV, WHE A AN E, Afed, 9P W gl g
U, WF ¥ 9N fhg WE ¥ g 2|
ST W I AN P § 7

(A) TH

(B) Ud

(C) Yad

(D) 31U

feg W fadwear 4 9 faww @ g -
(A) RST
(B) LNO
(C) UWX
(D) CEF

@

TTRIEVS FT Fed Arliferd & 8 -
(A) 53483 T faHlo
(B) 60480 T faio
(C) 55483 T {0
(D) 65480 T faio

TIREvS H fhae forel € ?
(A) 23
(B) 14
€) 12
(D) 13

TP oy a¥ # [eaR & Siftved Hem g
(A) 5l
(B) 52
©) 53
(D) 54
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30.

31.

32.

33,

34.

33,

@) Woiresy

[Set-A]

The angles between two needles at 5.15
O’clock will be :

(A) 60°

(B) 67.5°

(C) 69°

(D) 75°

Among the following which planet takes
maximum time for one revolution around the
sun ?
(A)

(B)

(©)

(D)

Earth
Jupiter
Mars
Venus

Four friend decided that the oldest friend
would get an extra piece of pizza. Madhuri is
two month older than Kanchan who is three
month younger than Sakshi. Prachi is one
month older than Kanchan. Who will get the
extra piece ?

(A) Madhuri

(B) Kanchan

(C) Shakshi

(D) Prachi

The sum of the ages of father and his son is 60
years. After 15 years, father will be twice as
old as his son. Their present ages are :

(A) 35,25

(B) 45,15

(C) 40,20

(D) 42,18

If JUNE is written as 1021145 then JULY
will be written ? :

(A) 10211225

(B) 10251210

(C) 12101512

(D) 12111510

Choose the right option :
Furniture : Wood :: Shoe : ?

Wood

Tree

Leather

Water

(A)
(B)
©
(D)

RTNER

08-101

30.

31.

32.

33,

34.

35.

5.15 qo1 QM1 A1 @ §rd BT PIOT BT -
(A)  60°

(B) 67.5°

©) 69°

(D) 75°

e & o & 78 P F IR AR TF qd
& forg sifidad gy o 8 ?

A) g

®) el

(C) #d

(D) Ysb

IR il 4 T 5 6 o 9§ 9 T8 @
foroaT @1 afafad el ferm, AR, &9 9§
g 991 & o b el ¥ 9 A' v R
U, $a9 § TF WIE 991 © al fUoon @
afaRad gaer fe ferm ?

(A)

(B) Ha

() el

(D) Wil

far 3k SHS g3 $ A F1 AT 60 qY B
15 a§ 91¢ fUar 394 gF & g | g
BRI | S T 3§

(A) 35,25

(B) 45,15

(C) 40,20

(D) 42,18

afe JUNE @ 1021145 for omar g

JULY &1 forar wmmm __ 2
(A) 10211225
(B) 10251210
(C) 12101512
(D) 12111510
el fdded &I gy -
BN : AP ST : ?
EE
U
gHST

(A)
(B)
©)
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36. If B denotes + E denotes — and D denotes x 36. ufe B &7 af + E &7 a1 — a1 D &7 ad

then : x g dl:
(2 ? (A) 44 ‘
B 19 B) 19
€) 54 (C) 54
(D) 40 D) 40

37.  Which river of the following rivers is not the 37. fo= Afegi & @19 & 98 T & Tea 8

tributary of Ganga ? TwE?

(A) Son '

(B) Indrawati ) @F{

(C) Gomti (B) gaTadl

(D) Yamuna () Tl
(D) g7

38.  What is the percentage of Nitrogen in the 38. qIgHTSA ¥ g &1 ufoed e d ¥ w
atmosphere ? 27
(A} 25% (A 25%

(B} 33% B) 35%
) 78% ©) 8%
D) 10% D) 10%

39.  Anuj is taller than Ram. Ram is taller than 39. 3 M Y o= §| H H’[EFI A o %|
Mohan. Mohan is shorter than Sohan. Who is A W89 ¥ BieT £ a1 999 I o 27
shortest among them ? ' -
(A) Anuj (A) 3
(B) Ram (B) H
(C) Sohan (C) Wi
(D) Mohan (D) HIEd

40. The opposite of day is : 40. feq @7 fadig & :

(B) Light B g

(C) Dark =)

(D) Rays (©) 3R
D) fovot

41.  Recently released film “Airlift” is based onthe 41. <d-aq weldfa e ‘waeforre foud @l

E’;’:*)rki‘?_ S W 3R © ?
mitabh Bachchan -
(B) Ram Pratap Singh A) ;
(C) Ranjeet Katyal (B) X HdM fife
*, (D) Igbal Haider (©) YU FT
(#)NDIRESULTE @ F
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42.  Who is National Security Advisor of India ? ~ 42. 9RQ & WS GR&ll HAGHN DI & ?

(A) ShriN.K. Nay)}/]ar (A) Py Q:f$ ¥R
(B) ShriN.K. Sing ’
(C) Shri A.K. Dobhal ®) A s R
(D)  Shri Som Nath (C) M TP, M
| (D) N
43.  The full name of Hitler was : 43. fReeR &1 Q1AM A1
(A) AdolfHitler (A) Teieh Rear
(B) Benedllct Hitler ®) e Resr
(C) Paul Hitler .
(D) None of the above () TUid feeer
(D) SR 4 ¥ P Tl
44,  The war of Plassey was held in : 44, gl P gg A AT
(A) 1737 AD. &) - 1737 B
(B) 1757 A.D. ®) 1757 ELO
(C) 1767 A.D.
(D) 1777 AD. (C) 1767 30
(D) 1777 30
45.  The first world war was held in : 45.  yuv fdwd gg &N A
(A) 1912 A.D. A) 1912 %0
(B) 1914 AD. ® 191 o
(C) 1916 AD.
(D) 1918 A.D. (C) 1916 50
(D) 1918 30

46. The former nam: of Swami Vivekanand was :  46. @) RdaH—=< &1 LI& I 97 :

(A) Sl.n'endra Nath Dutt (A) -‘ER? T =
(B) Siddhartha 8 R
(C) Narendra Nath Dutt (B)
(D) None of the above (C) T A &
(D) ST § ¥ FE T
47.  The waterloo war was held in: 47. dIeNe] J& g3 AT -
(A) 1815 A.D. A) 1815 30
- (B) 1817 A.D. s
(C) 1818 AD. (B) 1ot =
(D) 1819 A.D. (C) 1818 50
(D) 1819 0
48. India’s first ‘forest college’ established in 48. WRG & UYH ‘a9 Aefdarcd 1878 ¥ wnfug
1878 was : BT AT
(A) F.R.L Dehradun 2 s
(B) Pantnagar (A) Qfﬁaﬂ'\’aﬂ?g
(C) F.T.L Dehradun (B) UdTR
. (D) F.RI Kerala (€) TGS, B
(#)WpiresuLTe Rl o
indiresult.in whatsapp - 9352018749
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49.  Which of the following game is not included 49. 4% § 9 fbg @ @1 Nafue § WA T80

— e )
(B) Cricket .
(C)  Swimming B) fode
(D) Volley ball (C) T
(D) diaEr
50.  “World Ozone Day’ is celebrated on : 50. ‘fagq 3l R\ SaT & ¢
(A) 21 April (A) 21 arirer
B) 5 June
(C) & September ®) 5
(D) 16 September € 8 ﬁl‘cﬁﬂ'
(D) 16 fasR
51. Bharat Heavy Electricals Limited is located at : 5!,  4Rd 'E!Eﬁ gﬁ%ﬁﬁ?ﬁ foriee Rud & -
(A) Haldwani (A) gegml
(B) Hfarlc.lwar (B) gﬁ’g‘ﬁf
(C) Rishikesh )
(D) Pantnagar (©) Fftaa
(D) YR
52.  “World Tourism Day’ is celebrated on : 52.  ‘fdvq wied feoy 9 Wiar €
(A) 5 September (A) 5 Ry
(B) 14 Septembelj ®) 14 Ry
(C) 27 September
(D) 10 December (©) 27 feraR
D) 10 feawR
53. The best feature film in 62™ National fiim 53. 62d U&Y fhew JHEHR A gaus e @
award is : (A) o A
(A) Bajrangi Bhaijan )
(B) Court B) @
(C) Queen (©) Wé‘ﬁ
(D) None of these (D) ?{*P}I J 3513‘ Tal
54.  ICC World Cup 2015 winner team is : 54. 3. favg #9 2015 ¥ fooar W @
(A) New Zealand (A) W@'
(B) South Africa -
. . (B) T 3phidi
(C) Pakistan
(D) Australia (€) Wi
(D)  Sforan
55. Which one of the following is not a 55. fo=iforRea & ¥ 19 W el PR =l 2 ?
fundamental right ? (A) T B feg ARER

(A) Right against exploitation

(B) Right to equality (B) I $T ARHR

. (O) Right to property () TR @I SN
./ « (D) Right to freedom of religion (D) 1fi® waad $ JRHR
(#)WDiReSULTE

08-101 Page 7
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37.

38.

59,

60.

61.

62.
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ROM stands for :

(A) Read Once Memory
(B) Read Only Mode
(C) Read Only Memory
(D) Row One Memory

The full form of USB is :
(A)
(B)
©)
(D)

Unique Special Bus
Universal Special Bus
Unique Serial Bus
Universal Serial Bus

Which of the following feature will help us in
inserting a picture in MS Word document ?
(A) Image Art

(B) Clip Art

(C) Picture Art

(D) Graphic Art

In computers which of the following are the
shortkeys for paste ?

(A) Alt+P

(B) Cul+V

(C) Shift +P

(D) Ctrl+P

Which one of the following is the windows
program Key combination for undo ? :

(A) Ctl+C

(B) Cul+X

(C) Ctrl+V

(D) Ctrl+2

Which river is famous for River Rafting in
Uttarakhand ?

(A) Ganga

(B) Bhilangana

(C) Kali

(D) Yamuna

How many seats are reserved for schedule
tribes in Uttarakhand legislative assembly ?
A 1

B) 5

<€ 2

(D) 13

INDIRESU

YOUR SUCCESS PARTHNER

56.

57.

58.

99

60.

61.

62.

USB &1 01 %0 & | :

(A) I I T4

(B) Yavd TR 99

©) e wiRad 9

(D) IFasa dGiRTd 5

TATH. @S Woild H U& qWR SeW H
frfoRad # 3 o9 W PR Heg Bl § 2
(A) S 3

B) f¥m are

©) fgaR e

(D) Wfhd 3rme

PR § We B fory diee @8 ?

(A) 3Tee + b

B) P + @

©) Rme + &

(D) gl + @

ol &

(A) gl + ¥

(B) ®gldl + Ta

(C) Bglel + dl

(D) g + Wi$

ImEvs # Rax wfen & fod oRg )
BF R ?

(A)

indiresult.in whatsapp - 9352018749
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63.

65.

66.

67.

68.

69.

GJ.

Set-A]

NDIRESULTE

Important  tourist place  “Khirsu’
Uttarakhand belong to which of following
district ?

(A) Tehri

(B) Pithoragarh

(C) Pauri

(D) Chamoli

The name of Garhwal in Skandpuran is ?
(A) Kedar-Khand

(B) Manas-Khand

(C) Himalaya Khand

(D) Jalandhar Khand

From Uttarakhand who got the first Param
Veer Chakra ?

(A) Major Somnath Sharma

(B) Major Gabbar Singh

(C) Major Shaitan Singh

(D) Major Saurabh Kaliya

Which one of the following is called the
‘Queen of hills® ?

(A) Nainital

(B) Dhanoalti

(C) Mussoorie

(D) Almora

Shiv Prasad Dabral is known as :
(A) Politician

(B) Philosopher

(C) Historian

(D) Poet

Source of Bhilangana river is:
(A) Chorabari Glacier

(B) Satapanth Glacier

(C) Milam Glacier

(D) Khatling Glacier

Founder of *‘Dasholi Gram Swaraj Sangh’ is :
(A) Chandi Prasad Bhatt

(B) Sunder Lal Bahuguna

(C) Gaura Devi

(D) Anil Joshi

 08-101

of 63.

64.

67.

68.

(#)WoiResuLTz
SREYS BT Fea wed &7 Rey f 4
¥ 5 el & 3=l amar & 2
(A) fegd
(B) foiRETE
(€) U
(D) THA
W [T A Tedd & I A fhw @ue
@ I AT ® 7
(A) BIR—TUE
(B) HAMI-EUS
(©) fRaem gvs
(D) VIR QU
STRIEUS ¥ W WHAR 95 faoidr &1 &
qH o1 ?
(A) HOR QI IH
(B) ¥R &N R
(C) AR ¥am Rig
(D) HOR GRY BIferar
fr=foad 4 9 5 wersl @ 1 Fer W
g7?
(A) T
(B) &Ml
©)
(D)  eHIST
9 wE SRS S WA O R
(A) ToEr
(B) Triff®
(C) EfERGR
(D) @M
PG T &7 S i #
(A) INERY TfRR
(B) HaAMYd iR
(C) fiem IfRR
(D) GdfelT TARRR
TN T RIS T B RSP 8
(A) US| TEIG HE
(B)  rXellel qg7om
(C) TRT &d
(D) e A

~ Page9
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74.

79,

76.
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70.

Place described as ‘Nandan Kanan’ in
Mahabharat is presently known as :

(A) Dayara Bugyal

(B) Valley of Flowers

(C) Bedni Bugyal

(D) Har ki Doon

Pancheswar Dam proposed over river :
(A) Ganga

(B) Yamuna

(C) Kali

(D) None of the above

Wadia Institute of Himalayan Geology
(WIHG) situated at :

(A) Delhi

(B) Dehradun

(C) Mainital

(D) Rishikesh

Mughal Prince who took shelter in Srinagar
Garhwal :

(A) Murad

(B) Aurengich

(C) Darashikoh

(D) Suleman Shizch

Which of the following lake is called Gandhi-
Sarovar ?

(A) Chaurabadi Tal

(B) Nachiketa Tal

(C) Aachri Tal

(D) None of the above

Largest wildlife sanctuary of Uttarakhand is :
(A) Govind Wildlife Sanctuary

(B) Kedarnath Wildlife Sanctuary

(C) Askot Wildlife Sanctuary

(D) Sona-Nadi Wildlife Sanctuary

When was the name of Uttaranchal changed
as Uttarakhand ?

(A) 1 January, 2007

(B) 7 May, 2002

(C) 22 December, 1999

(D) None of the above

70.

71.

72.

73.

74.

o

76.

(#) WoiResuLTe

wMRd ¥ affd \=E e @ adEE |
T e

(A) IR TaTd

(B) Tl @ ard

(C) & g

D) |G

Uy 91Y 93 & HIWR WAIdd © ¢
(A) T

(B) TG

(C) elt

(D) SRIFa 4 ¥ PIg el

s fRrera Yfdsm wee Rerd 2
(A) fReelt
(B) GENIGH
(C) T
(D) FDHA

el georel orad SR Tedad d e
foram o :

(A) W=

(B) 3RTe

(C) TRINIDIE

(D) o Riars

fohey et T T WRITR BT T B 7
(A) ARERE ard

(B) If@ar e

(C) 3T A

(D) SWRIF A F IS 78

T 6T AN GBS el JIuig AR €
(A) Tfd=< T=oig faer
(B) ®ERAM duig fdgR
(C) 3IFPIT gilg fagR
(D) GHT &I T IR

STRIAA BT TH SAIYS He gaml ?
(A) 1 S, 2007

(B) 7 ¥, 2002

(C) 22 fewwaR, 1999

(D) SRIF ¥ A Pig T

08-101
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7.

78.

79.

80.

81.

82.

83.

(’"

Whom among the following is known as 77.

‘Gandhi’ of Uttarakhand ?
(A) Govind Ballabh Pant
(B) Sunderlal Bahuguna
(C) Indramani Badoni
(D) Narayan Dutt Tiwari

Who is known as ‘Garh Keshri® ? 78.

(A) Badri Dutt Pande

(B) Hemwati Nandan Bahuguna
(C) Asha Ram Nautiyal

(D) Ansuya Prasad Bahuguna

Parimarjan Negi is associated with the game ?  79.

(A)
(B)
©
(D)

Cricket
Hockey
Chess
Badminton

The meaning of ‘Jagar® is : 80.

related to social

(A)

(B)
©
(D)

Poem or song
awakening
Entertainment song
War song

None of the above

Population density of Uttarakhand is : 81.

(A)
(B)
©)
(D)

159 person per sq. km.
165 person per sq. km.
170 person per sq. km.
None of the above

Who among the following is not related to 82.

‘Chipko Movement” ?

(A) Gaura Devi

(B) Chandi Prasad Bhatt
(C) Basava Nand Nautiyal
(D) Vidyavati Dobhal

The confluence of Alaknanda and Mandakini 83.

river is :

(A) Rudra Prayag

(B) Karan Prayag

(C) Dev Prayag
Vishnu Prayag

INDIRESULTE

08-101

INDIRESULT

ou SUCCESS PARTNER
4

Tl P S

v,
?ﬁr 49 Py wmvsﬁas}r
T
(A)
(B)

Mfd oot o=
Grekellel 97N
(C) =AY geF

(D) -TREY &7 faart

TE DA B AW W B S o g ?
(A) & T4 v

(B) W& T g

(C) JIRM Aifedrs

(D)  SFFEAT 9HIq qgTvm

gRASH T 5 Wd g # 2
A) fhde

(B) El®l

©) =9

(D) dsfies

TR &1 3 2

(A) IS @ S drelt Hfdar a1 Mfa
(B) HARwH M

© Fgim

(D) SRIT A | PIg eI

ITRIGUS HT T T &
(A) 159 AfeT ufa o fHefo
(B) 165 afad ufa @ fdio
(C) 170 AfdT wfy T o
D) IR § F P T8

9 4 ¥ foger gy Rue! a<iaT |
Tl g ?

(A) TRT <@

(B) dvS JHIE WS

(C) TNaw Aifears

(D) faemad s

SdHTT UG Awalienl Afedl & wH W) Rerg
2
(A)
(B)

DU
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84. ‘Kauthig’ means : 84. ‘I I FT A B :
(A) Fair @) W
(B) Dance
(C) A food product B) T
(D) Cereals & millets (C) TP 9rE 3dQ

(D) 3F UG A ST

85. The percentage of agriculture land in 85. TTREYS H FY IFG 4 &1 UG ©

Uttarakhand is : (A) 20%

(a) 20% B) 15%

®B) 1% (C) 13%

€ 13% D) 50%

(D) 50%
86. Nanda Devi National park is situated at : 86. TwIedl T U Rud B -

(A) Dehradun (A) m

(B) Nainital B) 35

(C) Chamoli

(D) None of the above (©) ELC]

(D) SWIF A I3 6l

87. Who was the first Governor of Uttarakhand ?  87. SORI@EUE & W 9Tl B o ?

(A) Nitya Nand Swami (A) e @

(B) Bhagat Singh Kosyari :

(C) Surjeet Singh Barnala ® ¥ feie w

(D) None c‘ "= above (©) Fruid Ris qwren

(D) SR H § B T8l

88. Which of the following tribe practices 88. fdy Wi GRT Fq Ware fomar e & 2

:s:;son;lhmigration 2 (A) o
aru
(B) Boksha ®)  dw
(C) Bhotia (C) e
(D) Raji (D) it
89.  Gabar Singh Negi is related : 89. N g it ¥ 9wfdd &
(A) Arjun Award (A) 3@7{ IaTE
(B) Paramveer Chakra RHAN
(C) Victoria Cross ) P
(D) Mahaveer Chakra (©) fageiRar s
(D) WEER T%F
90.  Gori Ganga joins the Kali river at : 90. TN T Pl Aol W el §
Eg; ?“:r.apmyag (A) E WA
ehri
(C) Bageshwar (B) fesr
% « (D) Jauljibee (C) dFRW®
(FNDiRESULTE ® st
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91. Barahoti is located in district ? 9. R fFg R A Reg & ?
(A) Rudraprayag (A) &F VN
(B) Pithoragarh
(C) Chamoli ®)  fORIRTTE
(D) Uttarkashi (€) T
(D) SR
92.  Windows operating system is a product of ? 92, favely 3ifRfeT Req fhaa S & ?
(A) Apple (A) TUd
(B) Google
(C) Microsoft ® T .
(D) Allofabove (C) TEHrTE
(D) SWEd T
93.  Who is known as ‘Kumaon Kesari’ ? 93. = ¥ 9 f5ud! ‘TS IO B AW o T
(A) Nagendra Saklani TR ?
(B) Dev Singh Danu
(C) Badri Dutt Pande (A) T el
(D) None of above ®) <3 R a1y
(C) dded Urvey
(D) SR ¥ i3 el
94.  When Gaura Pant (Shivani) born ? 94.  TRT U (Frar) B 5 P gl ?
(A) 1913 AD. (A) 1913 50
(B) 1923 A.D. B) 1923 '{EO
© 1932AD. ®)
(D) 1823 AD. (C) 1932 %0
(D) 1823 30
95.  The origin of river Pinder is : 95. fiveR 7§ FT ST €
(A) Badrinath (A) T
(B) Kedarnath
(C) Pindari Glacier ®) PR
(D) Milam Glacier (©) fovert wifmR
(D) fieam wfrR
96. Who is known as the father of computer ? 96. PR B TAD PHE?
(A) Navghton (A) e
(B) Danis Ritchie
(C) Charles Babbage (B) st Red
(D) james Gosling (C) dTe AIel
(D) OT=T TTRIerT
97.  ‘C’ language was developed by : 97. C’ 9N P O &
(A) Hollerith (A) R
(B) Duckberg f
(C) Armstrong (B) )
(D) Denis Richie (©)  HFTEIT
@norresus T i
indiresult.in whatsapp - 9352018749
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WWW stand for : 98. WWW & 0 W%U 8

(A) World wide wings (A) IS Tz i

(B) World web wide

(C) World wide wikipedia (B) T 9 TGS

(D) World wide web ©) EIS CLESS difaifean
(D) qoS dq3S 99

I KB is equal to: 99. 1 ®dL W T :

(A) 19AKG (A) 1024 DAL,

(B) 1024 GB

(©) 1024 Bytes (B) 1024 G4l

(D) 1024 MB (C) 1024 digcH
(D) 1024 THAL

. Who discovered ‘Facebook’ ? 100. ‘GHH D TS DI 8 7
Eg)) E:Stir; M;)Sk()\iitz (A) Rea AR
uardo saecein q&
(C) Andrew Mc collum (B) $§3Tl?ﬁ
(D) Mark Juckerberg © T3 ﬁa\%_"m

. (D) @ e
indiresult.in whatsapp - 9352018749
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